
MPG No. 19.3.70 3m′ (3m’1 setting) [ Type III, trigonal ] [G tensor]

* Rank 0 tensor. * Rank 1 tensor. * Rank 2 tensor (s). * Rank 2 tensor (a). 0 Gxy 0
−Gxy 0 0
0 0 0


Gxy = Q(1)

pz

* Rank 3 tensor (s).
Gxxx 0 0
−Gxxx 0 0

0 0 0
Gyzx 0 0
0 −Gyzx 0
0 −Gxxx 0


Gxxx = G

(1)
f2

Gyzx = −3Q
(1)
du

* Rank 3 tensor (a).Gyzx 0 0
0 Gyzx 0
0 0 Gxyz


Gyzx = −Q

(2)
du +Q(1)

s

Gxyz = 2Q
(2)
du +Q(1)

s

* Rank 4 tensor (sss).
0 0 0 0 Gxxzx 0
0 0 0 0 −Gxxzx 0
0 0 0 0 0 0
0 0 0 0 0 −Gxxzx

Gxxzx −Gxxzx 0 0 0 0
0 0 0 −Gxxzx 0 0


Gxxzx = G(1)

ga

* Rank 4 tensor (ssa).
0 0 0 0 Gxxzx Gxxxy

0 0 0 0 −Gxxzx −Gxxxy

0 0 0 0 0 0
0 0 0 0 Gyzzx Gxxzx

−Gxxzx Gxxzx 0 −Gyzzx 0 0
−Gxxxy Gxxxy 0 −Gxxzx 0 0


Gxxzx = −2Q

(1)
f1

Gxxxy = −2Q
(1)
faz + 2Q(1)

pz

Gyzzx = −4Q
(1)
faz −Q(1)

pz

* Rank 4 tensor (aas). * Rank 4 tensor (aaa). 0 Gyzzx 0
−Gyzzx 0 0

0 0 0


1



Gyzzx = −Q(2)
pz

* Rank 4 tensor (sa).
0 Gxxzx Gxxxy

0 −Gxxzx Gxxxy

0 0 Gzzxy

0 Gyzzx 0
Gyzzx 0 0
Gxxzx 0 0



Gxxzx = Q
(2)
f1

Gxxxy = −Q
(2)
faz +Q(3)

pz

Gzzxy = 2Q
(2)
faz +Q(3)

pz + 2Q(4)
pz

Gyzzx = −Q
(2)
faz +Q(4)

pz

* Rank 4 tensor (as). 0 0 0 0 Gyzzx Gyzxy

Gyzxy −Gyzxy 0 Gyzzx 0 0
Gxyxx Gxyxx Gxyzz 0 0 0



Gyzzx = −Q
(3)
faz +Q(6)

pz

Gyzxy = Q
(3)
f1

Gxyxx = −Q
(3)
faz +Q(5)

pz

Gxyzz = 2Q
(3)
faz +Q(5)

pz + 2Q(6)
pz

* Rank 4 tensor (s).

0 0 0 0 Gxxzx Gxxxy 0 Gxxxz Gxxyx

0 0 0 0 −Gxxzx −Gxxyx 0 −Gxxxz −Gxxxy

0 0 0 0 0 Gzzxy 0 0 −Gzzxy

0 0 0 0 Gyzzx Gyzxy 0 Gyzxz Gyzxy

−Gyzxy Gyzxy 0 −Gyzxz 0 0 −Gyzzx 0 0

−Gxxxy

2 − Gxxyx

2
Gxxxy

2 +
Gxxyx

2 0 −Gxxxz 0 0 −Gxxzx 0 0



Gxxzx = G(1)
ga − 2Q

(1)
f1 +Q

(2)
f1

Gxxxy = −2Q
(1)
faz −Q

(2)
faz + 2Q(1)

pz +Q(3)
pz

Gxxxz = G(1)
ga − 2Q

(1)
f1 −Q

(2)
f1

Gxxyx = −2Q
(1)
faz +Q

(2)
faz + 2Q(1)

pz −Q(3)
pz

Gzzxy = 2Q
(2)
faz +Q(3)

pz + 2Q(4)
pz

Gyzzx = −4Q
(1)
faz −Q

(2)
faz −Q(1)

pz +Q(4)
pz

Gyzxy = −G(1)
ga − 2Q

(1)
f1

Gyzxz = −4Q
(1)
faz +Q

(2)
faz −Q(1)

pz −Q(4)
pz

* Rank 4 tensor (a). 0 0 0 0 Gyzzx Gyzxy 0 Gyzxz Gyzxy

Gyzxy −Gyzxy 0 Gyzxz 0 0 Gyzzx 0 0
Gxyxx Gxyxx Gxyzz 0 0 0 0 0 0



2



Gyzzx = −Q
(3)
faz −Q(2)

pz +Q(6)
pz

Gyzxy = Q
(3)
f1

Gyzxz = −Q
(3)
faz +Q(2)

pz +Q(6)
pz

Gxyxx = −Q
(3)
faz +Q(5)

pz

Gxyzz = 2Q
(3)
faz +Q(5)

pz + 2Q(6)
pz

* Rank 4 tensor (t).

0 0 Gxxxz

0 0 0
0 0 0

−Gxxxz 0 0
0 0 0
0 0 0
0 0 0

Gxxxz 0 0
0 0 −Gxxxz

0 −Gxxxz 0



Gxxxz = G(1)
ga

3


